
Snap in catch
Swing door

5

37

7

2

10

5 107

97

64

1

10

8

9
Pos Pcs. Description Article.no

1 1 Lock Snap in catch 89051085-1
2 1 Handle Snap in catch 89200024
3 1 Fitting 705032 29501279
4 2 Bolt M6x16 MF6S 89050145
5 4 Screw MF6S 4x10 89050133
6 2 Nut M6 M6M 89050522
7 4 Nut M4 M6M 89050513
8 4 Washer 4,4x7,9x1 89050260
9 1 Lock Snap in catch 89051085-2
10 2 Screw MF6S M8x35 Din 7991 89050138
11 2 Nut M8 Tensifl.Din 6923 89050525
12 1 Fitting 705034 swing door 29501289www.troax.com29501429

 

Article no.:
 

 

00
03

06
74

Sm
ar

Te
am

 ID
: 

Follow Me


